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2 1
3 2], then (AB)' is equal to:
1 1

1 -2 1

IfA:[z 1 3

]ande

(A) :10 7 ]

® |5 7

© 110 2
(D) None of these

13]

Find the inverse of the matrix A = [2 7

w [ 7

® [>, 7

© L 7

® [; 7]

3. For any square matrix A , A*A'is a:
(A) Unit Matrix
(B) Symmetric Matrix
(C) Skew — symmetric Matrix
(D) Diagonal Matrix
0 -1 5
The matrix |4 0 3| isa:
1 2 0

(A) Skew symmetric matrix
(B) A symmetric matrix
(C) A diagonal matrix

(D) An upper triangular matrix.
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If i tz 2226_:_; = [g 17O]then values of x,y,z and w are:
(A) 2,234
(B) 2,3,1,2
(©) 3,3,0,1

(D) None of these.

If A is an mxn matrix such that AB and BA are both defined, then B is a:
(A) m X n matrix

(B) n X m matrix

(C) n X n matrix

(D) m X m matrix

What time period is taken when interest is calculated quarterly?
(A) Twice as much of given time

(B) Half as much of given time

(C) Same as given

(D) None of these

What should be percentage gain on a product when it is sold for Rs.120 with a gain
of Rs.20.

(A) 20%

(B) 25%

©) 22%

(D) 16.25%

The ratio of 10km/hr. to 30km. per hour is:

(A) 3:1

(B) 13

©) 12

(D) 2:1
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10.  The fraction 2/5 converted to percentage is:
(A) 20%
(B) 50%
(C) 40%
(D) 30%
11.  The n™ term of an A.P. is given by a, = 3 + 4n. The common difference is:
(A) 7
(B) 3
©) 4
D) 1
12.  If the sum of three numbers is an A.P. is 9 and their product is 24, then numbers
are:
(A) 2,46
B) 1,53
(C) 28,4
(D) 2,34
13. Ifa,b,c are in AP then:
(A) b=a+c
(B) 2b=a+c
(C) b’=a+c
(D) 2b°=a+c
14.  The third term of a geometric progression is 4. The product of the first five terms is:
A) 4
(B) 4
©) 4
(D) None of these
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15.

16.

17.

18.

19.

A student has to obtain 33%o0f the total marks to pass. He got 125 marks and failed
by 40 marks. The maximum marks are:

(A) 300

(B) 500

(C) 800

(D) 1000

The first term of a GP is 1. The sum of the third term and fifth term is 90. the
common ratio of GP is:

(A) 1

B) 2

© 3

(D) 4

If 10% of m is the same as 20% of n then m:n is:

(A) 2:1

B) 1:2

(C) 10:20

(D) 1:20

If P is 40% less than Q then Q is how much % more than P?

(A) 60%

(B) 66.66%

(C) 40%

(D) 33.33%

Akshay lends a Sum of money for 10 years at 5% Simple Interest. Bobby lends
double that Amount for 5 years at the same Rate of interest. Which statement is
true?

(A) Akshay and Bobby will get the same Amount as Interest

(B) Akshay will get twice the Amount of Interest that Bobby would get

(C) Bobby will get twice the Amount of Interest that Akshay would get

(D) Akshay will get Thrice the Amount of Interest that Bobby would get
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20.  What is the sum that Amounts to X840 in 5 Years at the rate of 8% per annum

Simple Interest?

(A) X{100x840/100%(5+8)}
(B) %{100x840/(100+5)x8}
(C) {840x5x8/100}

(D) {(100+5)x8x100/840}

21. . A2 3 1
Find the transpose of a matrix A —[ 0 2 — 1]
2 0
A) A'=|3 —2]
1 1
—2 0
B) |-3 2]
-1 -1
2 0
© |3 2]
1 -1
(D) None.
22. 1 0 0
What type of matrix is the following- |0 1 0
0 0 1
(A) I

(B) Identity matrix
(C) Both (A) & (B)
(D) None.

23.  Kabir paid Rs.9600 as interest on a loan he took 5 years ago at 16% rate of simple

interest. What was the amount he took as loan?
(A) Rs.16400
(B) Rs.12000
(C) Rs.12500
(D) Rs.18000
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24.

25.

26.

27.

28.

Guddi invested some money in a bank at rate of 6% per annum. At simple interest,
after 9 years, she got Rs. 8470. How many did she invest?

(A) Rs.5250

(B) Rs.6550

(C) Rs.6400

(D) Rs.5500

In 4 years the simple interest on certain sum of money is 9/25 of the principal. The
annual rate of interest is:

(A) 4%

(B) 4(1/2)%

©) 9%

(D) 10%

Find SI on 21000 for 5 years @ 4% p.a.

(A) 300

(B) 200

(C) 500

(D) None

If 20%o0f an electricity bill is deducted, then Rs.100 is still to be paid. How much
was the original bill?

(A) Rs.110

(B) Rs.115

(C) Rs.120

(D) Rs.125

Evaluate:

28% of 400 + 45% of 250

(A) 220.3

(B) 224.5

(C) 190.3

(D) 150
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(For Q.No.29 to 31) : In how many ways can we arrange the word ‘UNIVERSITY”
29.  So that all the vowels come together?
(A) 7!
(B) 7!*4!
(C) (7M*4hH/2!
(D) None of the above
30.  So that no vowel comes together?
(A) (7! * 412!
(B) 10!/2!
(C) (0! /20— (7! * 41)/2!
(D) None of these
31.  So that every word begins with U
(A) 9!/2!
(B) 10!/2!-2
(C) 10!
(D) None of the above
32. A box contains 3 white, 5 black and 2 red balls. In how many ways can three black
balls be drawn from the box?
(A) 29
(B) 36
(C) 48
(D) 10
33.  How many words can be formed by using all letters of word ALIVE.
(A) 86
(B) 95
(C) 105
(D) 120
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34.

35.

36.

37.

38.

In how many ways can the letters of the word INDIA be arranged:

(A) 48

(B) 60

(C) 28

(D) 36

A isan ordered collecting of objects.
(A) Relation

(B) Function

(C) Set

(D) Proposition

Power set of empty set has exactly ~ subset.
(A) One

(B) Two

(C) Zero

(D) Three

Which of the following two sets are equal?
(A) A={1,2} and B= {1}

(B) A={1,2} and B = {1,2,3}

(C) A={1,2,3} and B = {2,1,3}

(D) A=1{1,2,4} and B = {1,2,3}

The set of positive integers is

(A) Infinite

(B) Finite

(C) Subset

(D) Empty
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39.  Ifn(A)=20 and n(B)=30 and n(A U B) =40 thenn(4A N B) is:
(A) 20
(B) 30
(C) 40
(D) 10
40.  In the given figure the if n(A)=20,n(U)=50,n(C)=10 and n(ANB)=5 then n(B)=?

(
(A) 35 .
(B) 20
(©) 30
(D) 10
41. IfU={1,2,3,4,5} and A = {2,4} then A’ should be:
(A) {24,5)
(B) {24}
(©) {1,2,34,5}
(D) {1,3,5§
42. Complement of a set B is denoted by:
(A) B’
(B) B
(C) {B}
(D) B
43. If A and B matrices are of same order and A + B =B + A, this law 1s known as:
(A) Distributive law
(B) Commutative law

(C) Associative law
(D) Cramer’s law
44, If a matrix has equal number of columns and rows then it is said to be a:
(A) Row matrix
(B) Identical matrix
(C) Square matrix

(D) Rectangular matrix
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45.

46.

47.

48.

49.

50.

We can add two matrices having real numbers A and B if their:

(A) Order is same
(B) Rows are same
(C) Columns are same

(D) Elements are same

If A, B and C matrices are of same order and (A+B) + C = A + (B+C), this law is

known as:

(A) Cramer’s law
(B) Distributive laws
(C) Commutative law

(D) Associative law

A scalar matrix having each element equal to 1 is said to be-

(A) Unit to identical matrix
(B) Rectangular matrix
(C) Square matrix

(D) Diagonal matrix

If the number of rows in A matrix are equal to the number of column in B matrix,

then A and B are comfortable for:
(A) Product

(B) Division

(C) Transpose

(D) Making identity

In real numbers, the additive identity is:
(A) 1

B) 3

<) 0

(D) -1

Ina:b=c:b,band c are called:
(A) Antecedent

(B) Extreme

(C) Consequent

(D) Mean
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51.

52.

53.

54.

A combination of direct and inverse variations of one or more than one variables is
known as:

(A) direct variation

(B) inverse variation

(C) joint variation

(D) complex variation

For which value of x will (x-1) (3-x) have its maximum?
(A) 0

B) 1

<) 2

D) -2

What will be the point of maximum of the function 2x” + 3x> — 36x +10?

A) -1
(B) -2
<€ -3
(D) -4

What is the minor of the element 5 in the determinant A ?

1 5 4

A=|2 3 6
7 9 4

(A) -34

(B) 34

(C) -17

(D) 21
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55.  Find the minor and cofactor respectively for the element 3 in the determinant A
2= 5 ¢
(A) My=-5, Ay=-5
(B) My=5, Ay1=-5
(C) My =5, Ay=5
(D) My=5, Ay1=5

56. Find the cofactor of element -3 in the determinant A

1 4 4

A=|-3 5 9
2 1 2

(A) -4

(B) 4

(C) -5

(D) -3

57.  Which of the following is the formula for calculating the inverse of the matrix?
(A) (2/]4]) adj A
(B) (1/]4]) adj A
(©) (=1/]4]) adj A
(D) (1/124]) adj A
58.  Which of the below condition is incorrect for the inverse of a matrix A?
(A) The matrix A must be a square matrix
(B) A must be singular matrix
(C) A must be a non-singular matrix

(D) adj A%0

Series-A BBA (N) 102/ 444 Page - 14



59.  Find the integral of 8x’+1.
(A) 2x*+x+C
(B) 2x°-5x+C
(C) 2x*-x+C
(D) 2x*+x*+C
60. Find [(7x? — x3 + 2x) dx.
(A) 7x/3+x"/5-2x*+C
(B) 7x’/3+x*/4+2x*2+C
(C) 7x5/9-x4/4+2x*2+C
X/3-X/4+X"+
(D) 7x’/3-x"/4+x*+C
61. Ramesh’s salary was reduced by 10% and then reduced salary was increased by
10%. What was his ultimate situation?
(A) Loss
(B) Gain
(C) Can’tsay
(D) None of these
62. 40% of greater number is equal to 60% of the smaller. If their sum is 150, then the

greater number is:
(A) 70
(B) 80
(C) 90
(D) 60
63. Two students appeared at an examination. One of them secured 9 marks more than
the other and his marks was 56% of the sum of their marks. The marks obtained by
them are:
(A) 39,31
(B) 41,31
(C) 42,33
(D) 40,33
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64. Four quantities a, b, ¢ and d are in proportion if and only if:
(A) ad=bc
(B) ab=cd
(C) Both (A) & (B)
(D) None
65. Find the amount Rs.8000 for 3 years at 5% per annum CI.
(A) 1381
(B) 9261
(C) 8451
(D) 1151
66. Find the amount after Simple Interest on Rs.5200 for 2 years at 6% p.a.
(A) Rs.5650
(B) Rs.5824
(C) Rs.5224
(D) Rs.6000
67. Interest obtained on a sum Rs.5000 for 3 years is Rs.1500. Find the rate %
(A) 8%
B) 9%
(C) 10%
(D) 11%
68. If3A=4B=6C;Find A: B: C
(A) 5:3:2
(B) 4:1:2
(C) 4:5:2
(D) 4:3:2
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69.

70.

71.

72.

73.

(For Q. No0.69 & 70) : A certain sum was divided in the ratio 7: 5: 4 among A, B

and C respectively. If the total sum is 8000.
What amount did A receive?

(A) 3000

(B) 4500

(C) 3500

(D) 4000

What amount did C receive?

(A) 3500

(B) 2000

(C) 1500

(D) 2500

Find the value of x in the following.
x:6=5:11

(A) 50/11

(B) 30/11

(C) 60

(D) 66

18:x=27:3

(A) 3

(B) 2

©) 5

(D) 6

For what values of X are the numbers -2/7, X, -7/2 in GM
A) -1

B) 1

(C) Both (A) & (B)

(D) None of these
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74.

75.

76.

77.

78.

79.

What is the Geometric Mean of the following numbers 2,4,8,16,32?
(A) 32

(B) 64

(©) 8

(D) 16

For what possible value of X are the numbers (x+9), (x-6) and 4 in GP
(A) 3

(B) 2

(C) 16

(D) None of these

The sum of the series 5+9+13+ +49 is.

(A) 535

(B) 324

(C) 351

(D) 435

The third term of GP is 9. The product of its first five terms:

(A) 3'°

(B) 312

(C) 3°

(D) 3’

Differentiate w. r. t. X. X

(A) x5

3/2

(B) —;x%
(€ —5x
(D) Sx~3/2

Differentiate w. r. t. x. ¢’log x
(A) ¢’ logx’

B —

© T
(D) elogx’
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80.

81.

82.

83.

84.

Find Zwhen y = (x*-3x+2) (x+2)
(A) x*2+4

(B) 3x*—2x—4

(C) 3x*—2x+4

D) (x-3)

y = (+2x)” find 2

(A) 2(x*+2x) (3x*+2)

(B) 2(2x°+2) (3x*+2)

(C) 2(x*+2x) (2x+2)

(D) None of the above
y=3x"-5x"+7 find y'

(A) ¥ =2x-10x

(B) y' =3x’—10x+7

(C) y =12x"—10x + 1

(D) y' =12x’ - 10x

Find 1= [ (x + )’ dx

(&) 1=Z+ 2 4 3logx — 5 +C
B) 1=Z+ L+ 3loga’~5+C
(©) 1=2+ T +2logx+C
(D) None of these

1=[vx(x* + 2x + 3) dx

(A) %x7/2 + %xs/z + 2x3/% +c
(B) §x7/2 + §x5/2 + 2x3/2 +¢
(©) §x7/2 + §x5/2 +x3/% +c¢

(D) None of the above
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85.

86.

87.

8.

89.

1= [logxdx

(A) xlogx—x+c
(B) xlogx—1+c¢
(C) logx—x+c

(D) None of the above
(For Q. 86 to 89)
u={1,2,3,4,5,6,7,8,9,10}
If Set A ={1,2,3,4,5}, B={2,3,4,6},C={1,2,3}
Find (ANB)-

(A) {2,3,6}

(B) {1,2,3}

©) 2,34}

(D) {3.2§

Find A:

(A) {1,2,3,4,5}

(B) {6,7,8,9}

(C) {6,7,8,9,10}

(D) {2,4,6,7,8}

Find A-B

(A) {1,5§

B) {6}

©) {5}

(D) None of the above
Find. ANBNC

(A) {2,3.4)

B) {2.3}

©) {3}

(D) None of the above
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90.

91.

92.

93.

94.

General term of an arithmetic Progression is given by-
(A) T,=a+(n-1)d

(B) T,=ar"'

(C) T,=a+nd

(D) None.

The sum of an infinite Geometric Progression is given by-

a(1-r™)

(A) Sy= (1-7)

Which among the following is correct.

_ SIx100
(A) P= RXT
_ RXT
(B) P= SIX100
_ RXSI
(©€) P= 100XT
(D) P==2

SI

Which among the following is a void set.

(A) A={p}
B) ¢
(©) B=1{}

(D) (B) & (C)

A Set that contains all sets in a given contest is called the Set.

(A) Sub Set

(B) Power Set
(C) Universal
(D) None of these
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(For Q. N0.95 & 96) : Which among the following are true:
95. (A) AnBcA

(B) For equal Sets ANB = ¢

(C) AnB #BnA

(D) None of these
96. (A) n(AUB)=n(A) +n(B)

(B) n(AUB)=n(A) +n(B) —n (ANB)

(C) n(AUB)=n(A) +n(B) +n (ANB)

(D) None of these

(For Q. 97 & 98) : Find the differential of the following functions.
97. y=3x*

(A) 4x°

(B) 12x°

(€) 12x°

(D) 3x°
98. y= 2vx

A) =

(B) Vx

©

(D) Svx
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(For Q. N0.99 & 100) : Find the integral of the following functions.

79- f 3Vx dx
(A) 2x"?
B) =
(C) 2x"?

(D) None

f%dx

(A) 4Vx

100.

(B) 2vx
© =

(D) None

Kk x
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the first most option will be considered valid.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination please hand over the Answer Booklet

(OOM.R ANSWER SHEET) to the Examiner before leaving the

examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.

Series-A

BBA (N) 102/ 444 Page - 24



